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Question: 368

A small remote office is set to connect to the regional hub site via NSSA ASBR.

Which type of LSA is sent to the remote office OSPF area?
A. type 7 LSA
B. type 1 LSA
C. type 5 LSA
D. type 3 LSA

Answer: A

Question: 369

Which mroute state is created when Bidirectional PIM is deployed at a site?
A. *.G
B. MVPN Type-6
C. MVPN Type-7
E. G

Answer: A

Question: 370

Refer to the exhibit.



A flapping link issue has been reported on the vPC keepalive link. A packet capture has been activated on the Cisco Nexus switch.

What is the destination IP address of the vPC keepalive packets that are sent by the switch?
A. 192.168.254.4
B. 192.168.254.1
C. 192.168.254.2
D. 239.255.70.83

Answer: A

Question: 371

Which two settings must be configured before enabling a Cisco UCS Manager domain for Cisco Intersight connectivity? (Choose two.)
A. SMTP servers
B. SMTP reply-to address
C. NTP servers
D. syslog redirection
E. DNS servers

Answer: CE

Question: 372

Which two settings must be configured before enabling a Cisco UCS Manager domain for Cisco Intersight connectivity? (Choose two.)
A. SMTP servers
B. SMTP reply-to address
C. NTP servers
D. syslog redirection
E. DNS servers

Answer: CE

Question: 373

Which two settings must be configured before enabling a Cisco UCS Manager domain for Cisco Intersight connectivity? (Choose two.)
A. SMTP servers
B. SMTP reply-to address
C. NTP servers
D. syslog redirection
E. DNS servers

Answer: CE

Question: 374

What are two capabilities of the Cisco Network Assurance Engine? (Choose two.)



A. It validates that devices comply with network security policies.

B. It predicts the impact of changes to the network.

C. It predicts the network load on a data center.

D. It ensures that network performance meets an SLA.

E. It verifies the speed of network packet flows by using telemetry.

Answer: AB

Question: 375

Which two settings must be configured before enabling a Cisco UCS Manager domain for Cisco Intersight connectivity? (Choose two.)
A. SMTP servers
B. SMTP reply-to address
C. NTP servers
D. syslog redirection
E. DNS servers

Answer: CE

Question: 376

Refer to the exhibit.

The STP priority of N7K-1 and N7K-2 are the lowest in the network.

Which statement describes STP on the vPC?
A. N7K-1 and N7K-2 appear as a single STP root.
B. N7K-1 appears as the STP root.
C. N7K-1 preempts N7K-2 as the STP root.
D. N7K-2 appears as the STP root.

Answer: A

Question: 377

Which virtual MAC address is the default for HSRP version 2 group 10?
A. 0000.5E00.0110
B. 0000.0C9
C. F00A



D. 3716.1350.1C0A
E. 0000.0C9
F. F010

Answer: B

Question: 378

Which adjacency server configuration makes two OTV edge devices located in the same site bring up the dual-site adjacency?

A)

B)

C)



D)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Question: 379

Refer to the exhibit.



Which two Cisco UCS components are upgraded as a result of the configuration? (Choose two.)
A. IOMs
B. Cisco UCS Manager
C. board controller
D. adapters
E. BIOS

Answer: AC

Question: 380

Refer to the exhibit.

A network engineer is setting up a multihomed OTV network. The first site has been set up with a primary and secondary adjacency server.

Which configuration must be added on the remote OTV AEDs site?

A)

B)

C)



D)

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

Question: 381

An engineer is configuring a backup operation on the existing Cisco UCS environment using a logical configuration.

Which configuration is expected to be saved by using this backup type?
A. systems
B. roles
C. servers
D. service profiles

Answer: D

Question: 382

An engineer is asked to use SaaS to manage Cisco computing.

Which two items are needed to accomplish the task? (Choose two.)
A. Intersight
B. UCS Central
C. Device/Claim ID
D. Node name/Serial Number
E. UCS Manager

Answer: AE

Question: 383

Which two settings must be configured before enabling a Cisco UCS Manager domain for Cisco Intersight connectivity? (Choose two.)
A. SMTP servers
B. SMTP reply-to address
C. NTP servers
D. syslog redirection
E. DNS servers

Answer: CE

Question: 384

Which two settings must be configured before enabling a Cisco UCS Manager domain for Cisco Intersight connectivity? (Choose two.)
A. SMTP servers
B. SMTP reply-to address
C. NTP servers
D. syslog redirection
E. DNS servers

Answer: CE



Question: 385

What characteristic of IP addressing creates a hierarchical network?
A. All hosts on all networks must have unique host numbers.
B. IP addresses identify a host and the network on which it resides.
C. Clients are assigned 32-bit addresses and servers 64-bit addresses.
D. Router, switch and host addresses are drawn from unique address classes.

Answer: B




